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1. F599L—Y— TkmBALISATIL <iREE>

No. [ ZmNo. K 4 X CEPN km/h IBGL | Fm
2 91 IR EBIZ = 1 11" 92 50.05 1 12
13 59 2R BEX INEF 17 14" 96 48.02 2 9
17 34 F 2 w5 1" 16” 55 47.02 3 8
16 39 BE X % B 17 16” 68 46.94 4 7
19 16 R EA ¥ it 17177 11 46.68 5 6
9 9 RBER—ED a8 K 1" 18" 45 45.88 6 5
12 96 =g £ BT H 17 18" 49 45.86 7
5 55 EE — INEF 17 18" 77 45.70 8
14 58 a0 HH INEF 1" 20" 26 44.85 9
1 92 HO FIA = 17 21" 10 44.38 10
4 56 HR 49 B A BR INEF 1" 21" 15 44.36 11
8 32 IR BEA w5 17 22" 89 43.43 12
6 52 FH (= 2 1" 24" 83 42.43 13
7 51 )l BA 2 1 32" 18 39.05 14
3 60 #H B INEF DNS
10 6 FER 4 a8 K DNS
11 3 ¥ B— a8 K DNS
15 41 L% BT % B DNS
18 31 bz S E % B DNS
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2. O—FL—Y— 30F LT 1kmBALLFSATIL <kBE>
No. Z . K £ #h[X CEPN km/h B | B
10 97 =H X BT H 1" 17" 76 46.29 1 12
4 83 INE BN B B 1" 18” 52 45.84 2 9
3 98 =H N BT H 1" 20”7 79 4455 3 8
7 127 FAHE s [ 38 1" 23”7 26 43.23 4 7
11 86 Sl EX B B 17 23" 90 42.90 5 6
6 75 =i R# 75 17 24" 82 42.44 6 5
5 76 INE HE = i 17 26" 23 41.74 7
9 119 XE E N E 17 34" 72 38.00 8
2 107 In xE BT H 17 34" 73 38.00 9
8 120 £H & N E 1" 36" 22 37.41 10
1 121 B B IhE 1" 36" 53 37.29 11
12 17 BEAK EF ¥ b DNS
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3. A—FL—H— 31~40F 1kmBALIFSATIL <REE>

No. | SN K % X EXPN km/h | B | B=
5 95 %k RA BT H 1" 17" 35 46.54 1 12
16 99 TE & BT H 17 21" 41 44.22 2 9
3 110 INER IR ER BT H 17 21" 64 44.09 3 8
15 113 By B BT H 17 23”7 04 43.35 4 7
11 65 EE = H i 17 24" 29 42.70 5 6
21 36 BaEm = w5 17 25”7 19 42.25 6 5
4 108 no Eo BT H 17 25" 48 4211 7
24 10 M BEFE B R 17 26”7 95 41.40 8
18 87 hE BF BB B 17 27”7 13 41.31 9
2 111 =iE EN BT H 17 28" 67 40.59 10
8 77 Fl = a5 B 17 29”7 59 40.18 11
14 117 HO = N 1" 30" 19 39.91 12
7 81 aH EH & B 17 30" 77 39.66 13
17 93 O E B s 1" 30" 92 39.59 14
25 4 HE FH a8 K 1" 31" 56 39.31 15
1 112 iz FH BT H 17 31" 63 39.28 16
12 64 EH XE i 17 34" 39 38.13 17
23 24 =Zh BREk ¥ i 17 35" 17 37.82 18
10 66 WK F— & B 17 39" 48 36.18 19
9 74 KE thi 5 i 17 44" 87 34.32 20
6 85 e FiE BB B DNS
13 21 ki K ¥ i DNS
19 62 FHIENMA INEF DNS
20 53 B E— BB 2 fh DNS
22 25 mH BT it DNS
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No. | Z=noNo. K £ #h X B4 L km/h IBRL | 5=
11 68 =2iE Fi T B 17 23" 92 42.89 1 12
21 100 s BE BT H 17 24" 07 42.82 2 9
25 2 A XA 8 B 1" 26”7 07 41.82 3 8
19 116 INFR - STER N 1" 26" 54 41.59 4 7
292 43 INEF 5 wm E 17 27”7 34 41.21 5 6
24 37 R Rl w5 17 277 91 40.95 6 5
13 57 k2 INEF 17 28" 25 40.79 7
8 79 b8 E2 & B 17 28" 47 40.69 8
3 122 BB BR N E 17 29" 29 40.31 9
18 26 Al EZ = 17 30" 12 39.94 10
10 69 25 BE T B 1" 30" 23 39.89 11
5 101 =5l B BT H 17 30" 94 39.58 12
4 103 #HHE KT BT H 17 30" 96 39.57 13
6 88 =% it BB B 17 32”7 24 39.02 14
9 78 WE Ek & B 17 32”7 70 38.83 15
2 123 (1] 3 N 17 35" 12 37.84 16
15 45 FE BAL 2 fh 17 38" 86 36.41 17
7 80 #H =B a5 B 17 39" 38 36.22 18
1 128 wx EHIE HoOWH 17 42" 41 35.15 19
12 67 INGE £ = 17 42" 96 34.96 20
14 46 gk FIER 2 fh DNS
16 44 BIK Bt s DNS
17 27 Rk 2R w5 DNS
20 102 XF —B BT H DNS
23 38 #HE B w5 DNS
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5. A—FL—HY— 51~60F 1TkmBALFSATIL <REE>

No. | ZhoNo. K 4 Hh X A4 Ls km/h | JBfL | &=
10 33 iR BE w B 17 19” 56 45.24 1 12
1 104 =0 M= BT H 17 28" 31 40.76 2 9
2 90 AR L B B 17 28" 57 40.64 3 8
13 105 #=0O S BT H 17 29" 17 40.37 4 7
3 89 58 FH B B 17 32" 55 38.89 5 6
6 63 55 K INEF 1" 33" 51 38.49 6 5
4 72 P RIE a5 B 1" 33" 60 38.46 7
5 70 g RX a5 B 1" 34" 65 38.03 8
8 48 H - s 1" 36" 93 37.14 9
12 106 EiE B BT H 17 39" 97 36.01 10
7 49 = F 2 fh DNS
9 47 CiEE S 2 fh DNS
11 118 Rk BX N E DNS
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3 28 XiF #F w E 17 22”7 37 43.70 1 12

1 73 =aF S I T 1B 1" 26" 25 41.73 2 9

2 71 EE HA F 1B 1" 48" 14 33.29 3 8
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No. | ShoNo. K % X A4 Ls km/h | JBfL | &=
1 50 MR 2 17 37" 15 37.05 1 12
3 8 iR EB = 1" 40" 37 35.86 2 9

6 132 # Efi—BR w B 1" 40" 60 35.78 3 8

2 30 BHE E17 w B 17 46" 14 33.91 4 7

4 7 Rl BB a8 K 1" 46" 42 33.82 5 6

5 5 =R BB a8 K DNS
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2 109 o H=x BT H 40” 78 4413 1 12
5 131 ¥ tiE OP 44" 81 40.16 2 oP
6 130 N £E OP 46" 29 38.88 3 oP
4 11 xE ER a8 K 48" 16 37.37 4 9

3 82 FHE BEE T 1B 49" 31 36.50 5 8

1 114 S EX BT H 51" 87 34.70 6 7
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7 B mEE = F i 65 32" 75 1
1 A ZFl =7 a7 B 77 2
2 B2 ik £ B oI 126 3
3 &K M A BB 42 4
4 F Rix  FHH BT H 112 5
6 BE = 29 BT H 111 6
5 FFH XE a7 B 64 7
X% 248

X5 K £ #h[X £ hnNo. EEEN JIE 15z
5 & %k A BT H 95 31" 71 1
2 2 no B BT H 108 2
8 BAF INER IR BR BT H 110 3
6 BHE HF BB am I 12 4
= aH EH a7 B 81 5
4 F KE #hist a7 B 74 6
3 &R e] 2 b iR B 85 7
7 BF WK F— a5 B 66 8
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X 148

X5 K £ #h[X £ HnNo. EEEN JIE 15z
1 A #E R a8 K 1 32" 95 1
4 F wE & BATIL 124 2
6 BHE 25 BE a7 B 69 3
3 & B E L] 79 4
5 & A EZ w5 26 5
2 B wx EIE HhH 128 6
X% 248

X5 K £ #h[X £ hnNo. 24 L JIE 15z
3 &K ik B INEF 57 33" 55 1
= =2iE FH a7 B 68 2
2 2 =B BR N F 122 3
4 F HwE JtE BT H 103 4
6 HE = it iR B 88 5
5 # INFF £ a7 B 67 6
X 3#H

X5 K £ #h[X £ hnNo. EEEN JIE 15z
4 7 HiA IE B 2 14 32" 81 1
6 BHE o # IhE 123 2
= FE AR 2 fh 45 3
5 # e EX a5 B 78 4
3 &R #H mEB a5 B 80 5
2 £ U BT H 101 DNS
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1 B NE & B £ 13 33" 24 1
5 &= 58 FH R 5 89 2
2 B =H HZ BT H 104 3
3 &K e RX a5 B 70 4
4 F wmE R 2 fh 47 DNS
X 2%H

X5 K 4 #h X < hno. A L JE 5L
5 # AR EL BB 5 920 36" 29 1
3 ¥ =5 B INEF 63 2
4 F hi RIE & 72 3
2 B FH @ — 2 48 4
= b R BB 29 DNS
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X5 K £ #h[X £ Hnio. EEEN JIE 152
7 BF IR EZ B B 91 12" 81 1
2 2 EKE B INEF 54 2
4 F BE x— INEF 55 3
8 BF iRk BEA w B 32 4
1 A REE—EB a8 K 9 5
6 HE TH RE 2 i 18 6
3 &R M RE 2 i 15 7
5 & BNl B 2 fh 51 8

2%H

X5 K £ #h[X £ hnNo. 24 L JIE 15z
9 FFH A K BB 40 13" 49 1
3 &K EEE & ¥ it 23 2
6 BHE HO A iR B 92 3
2 2 INE BRER B oI 125 4
7 B Rk &5 N 115 5
8 BFE B EIZ 2 i 19 6
4 F R (= 2 fn 52 7
5 & th 49 B A BR INEF 56 8
1 A Al 2 i 22 DSQ
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X% 1#H

X5 K 4 #h[X 2 /iNNo. B|H| G RPN [[=Qiva
2 = BB ZBB o) 12 113 1
5 = tRER—ER = fhn 53 21 2| 4 2
7 BAF TEB &M BT H 99 11 1] 2 51" 11 3
4 7 BaEMN K B E 36 1] 2 4
6 HE " EBR B B 87 1 5 5
1 A HE St 5 B 4 6 7
3 &K T fEsk ¥ it 24 DNF
X 2%H

X5 K 4 #h[X 2 /NNo. B|H]| G B4 L [[=Qiva
4 F S B BT H 113 212 1] 2° 54”7 11 1
6 BE £ 128 \ oI 126 11| 2 2
1 B M BEF 5 B 10 21 1| 4 3
3 & hO  (EE B B 93 3 4
2 B P A BB 42 5 5
5 = HO #H— I 117 6 6

B I f: ) RREAEHE HEH B I & RRfEHEHRRER



HO0AOHEREAE BGEEREE

B2 B:¥ER23F5H158 (A) B = 5 )RS
P.22

l RESULT |

15. &F 800MEEFRE <REE>

X5 K & X 2 ANNo. A4 L JIE iz Gt
3 O oy FEE BT H 109 17 08" 45 1 12
4 7 SA EE BT H 114 2 9
6 HE N EEB OP 130 3 oP
7 B A i OP 131 4 oP
1 B FE ER a8 K 11 5 8
2 2 FH BE &5 B 82 6 7
5 & O F& OP 129 DNS
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X5 K 4 X 2 HnNo. A L JE 2 s
3 INE E BB 5 83 31”7 91 1 12
= Z2 BN w5 35 2 9
4 F =mHE N BT H 98 3 8
2 2 =fE B# T B 75 4 7
6 HE INE HE & 76 5 6
8 AT I0 XGE BT H 107 6 5
5 #H a2 M INE 121 7
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X5 K £ Hh X 20N, CEEN [[=tia E3=]
6 HE INEFRI R BR BT H 110 32" 79 1 12
4 F Bk RA BT H 95 2 9
2 2 no B2 BT H 108 3 8
= =22 = H B 65 4 7
5 & WL 7 i 77 5 6
3 & kikE 2B \n I 126 6 5
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X5 K £ X 2 hnNo. CEEN [[=giva eI
5 & Ha 1E H £ 14 32" 75 1 12
4 F =ta S8 i 68 2 9
1 A FHE A 8 ® 1 3 8
2 B wE = =R SN 124 4 7
3 7 1 INEF 57 5 6
6 BE WA 77 I 123 6 5
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1 B2 FE & B £ 13 32" 72 1 12
3 7K =SH #= BT H 104 2 9
2 2 BfE FH B B 89 3 8
4 F WA EL B B 90 4 7
5 & =55 B INEF 63 5 6
6 AZE FH RIE i 72 6 5
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3 & =aF S I T 1B 73 35" 27 1 12
1 B EE A i 71 2 9
2 B FE 55— B B 94 DNS
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X5 K £ #h X 2 fnNo. B4 L JIE 32 TR
4 F HE F =2 fif 50 42" 16 1 12
3 & thill B3 a8 K 7 2 9
2 2 Bl E17 w5 30 3 8
1 A =R #BE 8 R 5 DNS
B I #: (B) EREAKEHSE REH B3 T REHEGEHREER




HO0AOHEREAE BGEEREE

B B:FE23F5A/8158 (H) B £ 153G
P.25
| RESULT |
22. FSVIL—U— A1)y <RBEE>
X5 K £ Hh X 2 1nNo. CEEN [[=tia E3=]
4 F TxK KX b I 40 12”7 74 1 12
2 2 = INEF 54 2 9
1 B INR B B B 91 3 8
5 #H BE K— INEF 55 4 7
3 7 EEE R ¥ i 23 5 6
6 AZE HO #k& B B 92 6 5
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23. O—FL—Y— 30FLLT 2000miREFRE <RBE>
X5 K £ #h X 2 fnNo. B|H|G B4 L BRZ | /e
3 I =H X BT H 97 31 4| 1| 2° 49” 09 1 12
5 = fHE FE FHERR 127 1 3 2 9
6 BE Z2 B 7 S 35 1 4 3 8
7 A = EX B B 86 2 4 7
4 F B N 119 5 5 6
8 BHE HF = N 120 6 6 5
= BEAK BEF 2 i 17 DNS
2 2 A¥E 1EGRh B B 84 DNS
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X5 K £ #h X 2 fnNo. B|H|G CEEN BRZ | /e
4 F Y B BT H 113 2121 1] 2° 49” 60 1 12
3 & TE &M BT H 99 1113 2 9
1 B 22— || 12 111]5 3 8
6 HE Wik BEFE B K 10 1 6 4 7
2 2 B EE—ER 2 53 2 5 6
5 = ki 2B B\ I 126 4 6 5
2L Nob3 tRER—ER #EF JIL—/\UFRETT
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X 7 K £ #h[X 2 fnNo. B|H|G B4 L BGZ | /e
6 HE S EF BT H 100 313 1] 2 55”70 1 12
8 = Ny R BB 43 2113 2 9
1 B A # = 1 2 3 8
7 B iz 5 I i w5 37 4 4 7
4 = INBR - SCER N E 116 5 5 6
3 & BAR XA a8 K 2 6 6 5
2 =2 mwE g BT 124 7 7
5 = HA IE B & 14 DNS
| RESULT |
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X5 K £ #h X 2 fnNo. B|H|G B4 L BRZ | /e
1 B FE & B 2 13 21 1] 1] 3 06”02 1 12
6 HE FR & w5 33 21 2| 3 2 9
2 =2 m0 HER BT H 105 11 1] 4 3 8
3 7 e S B B 29 2 4 7
5 & EE Bl BT H 106 5 5 6
4 F FiE BX INOE 118 DNS
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X5 K £ X 2 HnNo. B|H|G B4 L BGL | =8
1 B2 Kixg FMF B e 28 51 4| 1 1 12
2 B2 thiR =5 B K 8 2 2 12
4 &FH #t Eff—ER B e 132 3 3 9
3 K HE 55— B B 94 DNS
RESULT
29. FSYHL—H— 16kmiRAUL—R  <RBEE>
®| 1]14]|10{ 10 9] 10]10]10] 10 SEIA L
@ 2] 6| 9f12] 8] 9]12| 9|12 22" 40" 21
IE&| 3 12| 8] 9]10[12] 9| 12| 3
] 4| 5)12| 8|12 8| 8| 8| 9
1121345678 /M|mRr|&|&E]IE
. . 2 7No. ) .
No =2 K % h B #Ne 35(30[ 25| 20| 15| 10| 5| F | &5t |=&| 5t | IE | 4z
10 2 TR K B E 40 5[5]2|5]|5|5]5]|32 321 1] 1
9 FE W/E K4 s B 39 3125|3213 1]19 19] 4] 2
12 2F =R M INEF 54 2113112132317 171 2| 3
8 & B 2 ] 34 211131 ]1]1 9 95| 4
14 E BR EX INEF 59 5 5 5(8]5
6 BHE EEE # 2 i 23 3 3 3|6]|6
15 & =] B BT H 96 717
3 Din TH RE ¥ i 18 2| 2|-20]-18] 3| 8
5 = WA &l 2 i 22 1 1 1 DNF
1 =] ] RBE 2 it 15 DNF
2 2 FH EA& 2 i 16 DNF
13 =k a0 H# INEF 58 DNF
16 % I BB B I 125 DNF
4 & KEF =i ¥ i 20 DNS
7 Bk X EE B E 31 DNS
11 2 L5 #E B E 41 DNS
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1 b99 1Km44LM4TL |5 6 15 9 12
22 bvh A1) 6 12| |16] |13
29 F99 16Kmik {UbL—2R 5 28| |14
2 A-F 30 WML T 1km 5 (15|20 7
16 A-F 30 W LLT 400m 9 13[12]13
23 A-F 30 W LLT 2000m 8 711211 9
3 A—-F 31~40F 1km 5 6 36
17 A—F 31~40%F 400m 13 |29
24 A—F 31~40F 2000m | 7|8 6 21 5
4 A—F 41~50F 1km 8 11 12 9
18 A—-F 41~50%F 400m |8 12 69 5(7
25 A-F 41~50%F 2000m |13 16 12| 6
5 A—F 51~60F 1km 12 5 1416
19 A—F 51~60%F 400m 12 65159
26 A-F 51~60F 2000m 12 16 14
6 A—-F 61~65F 1km 12 17
20 A—F 61~65%F 400m 21
27 A-F 61~65%F 2000m 12
7 A—F 66F LLE 1km 15 1512
21 A—-F 66F LA L 400m |9 8 (12
28 A—-bF 66F LLE 2000m |12 9
8 A—FZF 500mTT 9 8 (19
15 A—FZF 800m 15 21
5 EA 101] 8 | 36| 17] o [188] 30| 56 |101| 96 |231| 29| 7 | 10] 16| O
& (2 3(13[ 710 2(8|6|3]|5]|1]9]|14[12]11
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